[ Efficiency vs vertpos |

< 0.1
20.09
4
20.08
(8]
§0.07
(&)
£0.06
0.05
0.04ff}
0.03
0.02
0.0

10f
LIE1

Ratio

15

0.98-

0.8H ; .
107 107 1 10 0?
TPvertr(cr%)
—— DOMStEpS 11 |—
_._B Mg gggzﬂ-:cl? BwtelL?fss
@ — BoMS g33:¥$:gS;gld)]{f\ﬁEWTOLDSAMPLE-reIf
N 0.2r
R R 00 S S Sl R S
4 E : : : : :
Z0.16------ [ FOARERERL R rrees
> r : : : : :
2 E : : : : :
Thuhe) A S
= E : : : : :
=N U ] e S AR SRR i ¥ SRAE
5} o . : : : :
()| SEEERERFREPE (PR PEPEPEFEPEPEPEES (f B SERFEERPERS

0.08F
0.06F
0.04F
0.02

...........

...........

Ratio

B V1P SR

80 =20 =10 0 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>
a0.18
IS
7 0.16
20.14
2y
c0.12
0.1
0.08
0.06)
0.04

0.02

....................................

.............................................

efticie

L T

Ratio
P
=

8 10
. PV z(cm)



	Contents
	Page 1


